=5 Fno 2 FF B
E=EHZTHF- S L — AR — B =75l E (33

T B A

] =

600,000

400050 - 3000X 70 * 200080 -.1000X 30

47,000

(F15£)3500 X 8(/1»3)3000 X 4(5#7)3500 X 2

100,000

B &4 50000, ¥ 7 k 50000

AR:AE AR

100,000

REAERIKERF

756

FIB. Eofh

S|P
m |
| > || 2 |2

3

70,244

ATEE B M

o | 5 | W | 2|80 || S

Eﬂ!

918,000

EE

m

T B #®

1 =

308,000

SHR. TR be7 K& #Y, TOft

70,000

REBR, WERR, HE2R

100,000

FHBLR, REBRILR

30,000

K= - mikliaie

30,000

FHRERR, NV—R-VEER, T

30,000

5%, BERAHE, TOf

50,000

9F, BRE, FH

EI RIS

50,000

AR, R, KR, AR, av—, #E

©|®|N|e o s|w|o|
| o | | D D B SO R |
| | || R | R | | |

.

150,000

FHELMY, TERM

10.555I=5H 8

50,000

AMTEEMLE

1.7 & &

50,000

a

918,000




